
Math 4. Homework #10.   Happy Thanksgiving! 

 

 

1. Compute: 
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2. Jack divided 1932 apples between 17 people and had 11 apples left, Jill divided 261 

apples between 17 people and had 6 left. If you don’t have a paper and a pencil to help 

Jack and Jill with calculations, can you tell them if they can divide apples between 17 

people evenly after combining them?   

 

 

 

 

3. Peter got a new book. On the first day he read 
1

3
 of the whole book and on the second day 

he read 
1

3
  of the rest of the book. On the third day, Peter once again read 

1

3
 of the rest of 

the book and now he needs to read 80 more pages to finish the book. How many pages are 

there in the book? 

 

 

 

 

 

 

4. Table in the picture on the right should be filled by the numbers 

1, 2, 3, 4, and 5 in such a way that no number can be put more 

than once in any row, column or diagonal. What number should 

be in the middle cell?  

 

 

 

https://gallery.yopriceville.com/var/albums/Free-Clipart-Pictures/Thanksgiving-PNG/Turkey_PNG_Clip_Art_Image.png?m=1466448445


5. At the party, all kids were given identical gift-bags with fruits. All together these bags 

contained 123 oranges and 82 apples. How many kids came to the party? How many 

apples and oranges were in every bag? 

 

 

 

6. A package of plastic forks contains 16 forks. A package of plastic knives contains 12 

knives. What is the smallest number of packages of each kind you must buy to get the same 

number of forks as knives? (Hint: Least Common Multiple) 

 

 

 

 

 

7. For the given triangles make the correct fit of angles and sides. The figures are not to 

scale, so don’t try measuring angles with the protractor. 

 

 

    
a) 18cm, 20cm, 14cm          b) 50°, 85°, ?                       c) 28°, 72°, ? 

  

 

8. Move 2 matches to new positions to get only 4 squares. Remember, no overlapping or loose 

ends. 

 

http://www.google.com/imgres?start=90&um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=st550XBcSOPysM:&imgrefurl=http://thexorb.com/Algebra/Triangle/Triangle.aspx&docid=G02PYcRiQ68S4M&imgurl=http://farm6.static.flickr.com/5086/5230258444_b82b074ce3_m.jpg&w=240&h=208&ei=NL0vUY7zDYL40gG994CQCA&zoom=1&iact=hc&vpx=699&vpy=140&dur=5607&hovh=166&hovw=192&tx=70&ty=95&sig=104262450623425410236&page=5&tbnh=129&tbnw=156&ndsp=24&ved=1t:429,r:6,s:100,i:22
http://www.google.com/imgres?um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=VUV8nylqVhVXpM:&imgrefurl=http://www.education.com/study-help/article/triangle-word-problems/&docid=PmZM-6LnYY6w9M&imgurl=http://01.edu-cdn.com/files/static/learningexpressllc/9781576856918/TRIANGLE_WORD_PROBLEMS_06.GIF&w=369&h=164&ei=z7wvUaX-PObq0AGDjYCYCA&zoom=1&iact=hc&vpx=776&vpy=331&dur=2640&hovh=131&hovw=295&tx=107&ty=84&sig=104262450623425410236&page=3&tbnh=120&tbnw=270&start=41&ndsp=25&ved=1t:429,r:58,s:0,i:291
http://www.google.com/imgres?um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=yfYM0Aw3n1lXSM:&imgrefurl=http://hotmath.com/hotmath_help/topics/scalene-triangle.html&docid=yWxgXG7BHfjbCM&imgurl=http://hotmath.com/hotmath_help/topics/scalene-triangle/scalene-triangle-image003.gif&w=200&h=150&ei=z7wvUaX-PObq0AGDjYCYCA&zoom=1&iact=hc&vpx=785&vpy=171&dur=1359&hovh=120&hovw=160&tx=83&ty=67&sig=104262450623425410236&page=2&tbnh=120&tbnw=152&start=17&ndsp=24&ved=1t:429,r:33,s:0,i:216


9.  For the given intersecting lines find x.  The figures are not to scale, so don’t try 

measuring angles with the protractor. 
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10. Which of the pictures below are the cube nets? 
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11. *   You need to cut 
1

2
 m from a rope 

2

3
 m long. You don’t have any tools to do the measurements. 

How you can do it? 

 

 

 

 

12.   Solve the following equations:  

2𝑥 − 4 = 𝑥 + 8                   250 ÷ (𝑥 + 12) = 10                 
6

14
÷ 𝑥 =

1

7
                

 

 

 

 

 

 

 

 

 

 

 


